Economic effects of a significant increase in taxation

Analysis:
· Increase in taxation could lead to consumers having less disposable incomes. For instance, if income taxed increased. This would then lower consumption, thus shifting AD the left, and therefore growth would decrease. However, one argument is that taxation would lead to more government revenue. This revenue could then be used for public expenditure, and therefore shifting AD back to the right and stabilising growth. In further evaluation this depends upon the economic situation of the country. For instance, if there was no spare capacity then a decrease in AD would just lower inflation, and not change growth at all. If, however the economy was in a recession then this would have a significant effect on growth, as shown. It is important to keep in mind if higher tax means more spending, it could just lead to paying off debts if in a recession, which may be beneficial as there would be lower debt interest payments in the long run.

· Could lead to lower productivity: If income tax was increased, then consumers may feel as though it’d not worth it to work harder as more of their money was being taxed. Therefore, they mark work less hours, or lose focus at work. However, this may not be likely, as if income tax increase then consumers would still be gaining more money, as income taxed is marginally taxed, i.e. 50% taxation over £80000, not the whole £80000. Furthermore, this would depend upon the significance of the tax increase. If large, then consumers may in fact work less. 

· Could lead to lower rate of inflation: As consumers spend less, demand for products are less so the prices of products are likely to fall. However, if taxes rise then consumers may demand higher wages, which could lead to cost push inflation.

· Improvements in the BoP of trade in goods and services – As consumers are have less disposable income, they may spend less on imports, which would improve the trade in goods and services in the BoP. However, in the UK, there is a marginal propensity to import, so demand for UK goods may actually fall, instead of imports. Firms in the UK therefore may be worse off. In further evaluation, there are other factors which might be more significant in influencing the balance of trade, e.g. exchange rate.

· Reduction in fiscal deficit and so less need for borrowing: This is if the government use the money on paying off debts. However, could lead to less govt. Revenue (laffer curve analysis). Unemployment may also be rising which would rather impact public finances. 
